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Yr 11 Maths Sept Mock 2

1. On the grid below, draw axes from -3 to 3 and -2 to 5 for the x- and y-axes
respectively.

The points X, Y and Z have coordinates (-2, 4), (-1, 2) and (-1, 3) respectively.
a. MarkX, Y and Z on the diagram and join the points to create a triangle. Label

this A. (1]
b. Draw the line y=1 on your diagram.
Reflect triangle A in this line and label the new triangle B. [2]
c. Translate triangle B using the vector ( . Label this new triangle C. (2]
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2. The diagram shows a triangular prism.

7cm
! 12cm
4cm
Calculate the volume of the prism. > ( (3]
\]:; Ax C = _’——x(f"7j>‘ 12
Z .
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a. Express x* - 8x + 10 in the form (x + p)* + q where p and q are integers that
can be positive or negative. (2]

(?C’Lf)l-féJr (o @ gr’ eher -4 or-(6

= (x-4)*-& KO

b. Use your answer to (a) to find the solution to »*> - 8x + 10 = 0 in the form a +
vb where a and b are integers. (2]

(x—)*-6:= 0
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4. Solve:

a. 2(x-5)=5c+8 : AL [2]
Tl eV
b 222 = 6 (2]
2xtl= 6 (u —x) - 2% —6bx @
Ry = &2
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5. ABCDE is a right square-based pyramid.
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6. Points A and B have coordinates: A (6, -3) and B (-3, 3).

a. Find the gradient of line AB. @ [2]
mogem 2T oAU
XK -6 -9 3
b. Find the midpoint of AB. [2]
% 6+(3)=3 2 = I

j “$¥+3 =B ‘""‘2, - O (f”!),O)@
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7. Ateacher measures the heights of the students in his class. Each is measured to

the nearest 1cm. The tallest is recorded at 164cm, and the shortest at 145cm. What
is the largest possible difference in height between the tallest and shortest

member of the class? [2]
g oveotd
Ledtat - [occes bod = 194% B
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8. In a sale at an electrical goods store, prices of all items are reduced by 12%.
a. Avacuum cleaner is normally priced at £90. What is the sale price? [2]
b. Adishwasher has a sale price of £259.60. What is its normal price? [2]
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9. PQRS is a quadrilateral. Angle SRQ_is acute.
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Work out the size of angle SQR. Give your answer to 1 decimal place [6]
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10.The weights of 160 apricots sampled from the harvest are as follows:

Weight (g) Count C (css coc i ~D
0<W<10 29 lo 2-9
10<W<15 25 S g
15 < W< 20 30 5~ s
20 < W< 30 36 o i
30<W< 50 40 20 Z

a. Create a histogram to show the data in the table. @ FD(. (4]
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b. Estimate the number of apricots that weight at least 15g but less than 25g. (2]
! S‘ — 20 — 3’3
IS5 25 = I18t3

lo-25 = |1 3 = 1%
c D = 48 (ko)
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